M| AM FHDADE MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Therma-Tru Corp.
1687 Woodlands Drive
Maumee, OH 43537

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Fiber Classic” / “Smooth Star” 8°0 Outswing Opaque Fiberglass Door w/Sidelites

APPROVAL DOCUMENT: Drawing No. S-2097, titled ““Fiber Classic”/ “Smooth Star” Up To 105.5” x 8-0
w/& wiout 14” SL, Outswing”, sheets 1 through 7, dated 3/18/02, with revision #2 dated 7/18/02, prepared by RW
Building Consultants, Inc., bearing the Miami-Dade County Product Control Approval stamp with the Notice of
Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P. E.

NOA No 02-0109.03

Expiration Date: September 12, 2007
Approval Date: September 12, 2002
Page 1




37.5" MAX. » fe——105.5" MAX. OVERALL FRAME WIDTH
e
THERMAoTRU® OVERALL WIDTH PaNEL wiDTH ] 36.625" MAX. ..
" "sn " 36" MAX. ™ 7.1257 MAX. PANEL WIDTH — I———-—- F;\’i.MsE xﬁ;{m % L‘>-I
FIBER CLASSIC" / "SMOOTH STAR PANEL, WIDTH D.L.O. WIDTH W/ASTRAGAL q > =N
FIBERGLASS DOOR T Fo i 13.9375" MAX. | £ O %
80 OUTSWING WITH & WITHOUT SIDELITES = E E = E ¥ E PANEL WIDTH QT |
< e 9 ‘ | 7.125" MAX. >0
f 3 NOTE \\ I ACTIVE % T IN—ACTIVE ACTIVE D.L.O. WIDTH 8 S 0
GENERAL NOTES W =1 = 5 w T =1 = —{ 3 L
1. THIS PRODUCT IS DESIGNED TO MEET FLORIDA BUILDING CODE. s T s 6 E O§8
2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY é | o é Lf' O30
TO TRANSFER LOADS TO THE STRUCTURE. = 2 s 332
3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS 3 o I - = ~ = .
SHOWN ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL o o X o T o I
SHALL BE BEYOND WALL DRESSING OR STUCCO. y e s 49 = e Wo o
4. DESIGNED PRESSURE RATING SEE TABLE PAGE 1. © oy g © % | ~
5. THIS PRODUCT MEETS THE WATER REQUIREMENTS FOR HIGH ><' @—@—vﬂ hv-—-b@ w X = oo
WIND ZONE VELOCITY AREA WITH THE USE OF THE HIGH DAM BUMP § < § 7y
THRESHOLD. : =1 = F =0 @ — - @ —
6. WHEN THIS PRODUCT IS USED IN AREAS REQUIRING WIND BORN 0 w e~ =TS
DEBRIS PRODUCTS, FLORIDA BUILDING CODE APPROVED IMPACT S N > 8°°U) v o
RESISTANT SHUTTERS ARE REQUIRED. 2 | x5 Zd
7. SIDELITES ARE AN OPTION AND CAN BE USED IN A =l = 5 — L.Ta-— o — i tlno =9
\__ SINGLE OR DOUBLE CONFIGURATION. ) see DEAL A 14" N
\\ 7 SHEET 3 / S L] g
T |3 W
7 RESJDENTIAL INSULATED FIBERGLASS DOOR R = Ite—UNIT ks QU e | 28
(Common 't ol frame- sanditons 5" MAX. OVERALL FRAME WIDTH{ ALL MODELS ~— 68.5" MAX, OVERALL WIDTH~] T EEE
Door & Sidelite Leaf Construction: 36.625° MAX. ARE_VIEWED 36 MAX. ol 38| & 4
Face sheets: Fiberglass avg. min. yield strength FY= 6,000 psi ANEL W’DTH-°| FROM EXTERIOR "‘PANELW’DTH‘l RN
SmoothStar Sash Skin — 0.070” minimum skin thickness - d 9 TE- S %
FiberClassic Panel Skin — 0.110" minimum skin thickness ki 13.9375"
ign: Polyurethane foam core, E 4 @ @ MAX. E E 355
ith1.9 Ibs. density by BASF. ” S
anel 7 fhe );)anel skin is constructed from a 0.070" for T T %‘gﬁs | 7.1257 MAX.
SmoothStar and 0.110" thk. for FiberClassic sheet molding compound (SMC). © IN—ACTIVE ACTIVE 9] ACTIVE D.L.O. WIDTH 1%
The interior cavity is filled with 1.9 Ibs. density BASF polyurethane foam. % ey gr— [y m— Ly 7. 125" — &=
The panel face sheets are glued to the wood stiles and rails. In the ] ] T = ] 3 S
"FiberClassic” model the LWL latch stile is reinforced with a wood lock block measuring § W IG5 MAX. 2
2.375" x 14.0" long at the strike and deadbolt location. In the "Smooth Star” < 2 g4 DLO. Tl |2
modelthe fech st s o one pie composite stie and stk lock blook measuring & ® uT WDTH 2 5
1.531" x 4.024" thk. running the length of the doors latch stile. The hinge stile o S~ & é )
is Finger Jointed Pine and the top and bottom rail are of a wood composite o =3 . % % Z E
material. In the double door application the inactive door is fitted with = 5 3= 3| |
an extruded aluminum astragal of 6060-T6 alloy. L$-I L § a
Fi c uction; The frame is constructed from finger jointed pine. The o g s M
header s jome:c? To the side jambs with (3) #8 x 2 1/2""long Philiips flathead i o5 SIS
screw at each side. The mullions are secured together in a sidelite application § fr—  g— X 0 g @ @ }é;
using #8 x 2" long PFH Wood Screws (6) screws per each mullion. The units s —Il 1T %5 NN [a
uses” an Outswing Bumpface threshold, either a Low Profile or High Water Dam type. s ; )
_Sld_ﬁl_:Le?_QLQM%h The sidelite panels are sandwich glazed using g two piece 0 0 3
lip lit frame. They are dry glazed on the exterior with an 1/8" thk. cellular o % too; Nz
glazing tape, (Stik-Il Tape) & Dow 795 Silicone. The lite frames are held 1 ||
@gether with a #8 x 1 1/2” long Plascrew or a #6—18 1 3/4” long PFH screw. ) SEE DETAL A" ‘%W
\ / SHEET 3 ] il — CONSULTAg‘:'“SLD::g
SINGLE_W/SIDELITES QUTSWING UNIT '
TABLE OF CONTENTS oU TSWING UN @ ’ IDELIT ING _UNI 813.684.3831
SHEET # DESCRIPTION DESIGN PRESSURE RATING (WHERE WATER INFILTRATION REQUIREMENT IS NOT NEEDED) owre:_11/08/01
1 TYPICAL ELEVATIONS & GENERAL NOTES i )
UNIT TYPE WITHOUT SURFACE BOLTS WITH SURFACE BOLTS Approved as complying with ihe SCALE: N.T.S.
2| VERTICAL CROSS SECTIONS & BILL OF MATERIALS D Busdins Conle
3 HORIZONTAL CROSS SECTIONS SINGLE +610PF -610pkV "/ /" /" /" / Date - 7 |owe. B TUH
4 HORIZONTAL CROSS SECTIONS & NOTES DOUBLE + 47.0 PSF - 47.0 PSF |+ 60.0 PSF - 60.0 PSF NOA# cHK. BY: RW
5 ANCHORING LOCATIONS & DETAILS SINGLE & DOUBLE Misme! Dade Product DRAWING NO.
6 | ANCHORING LOCATIONS & GLAZING DETAILS WITH_SIDELITES + 470 PSF - 47.0 PSF|+ 60.0 PSF - 60.0 PSF By S-2097
7 UNIT_COMPONENTS NOTE: LOW PROFILE BUMP THRESHOLD DOES NOT MEET WATER REQUIREMENTS FOR "HIGH VELOVITY HURRICANE ZONES'. e 1 o 7




&é ég \e

PANEL HEIGHT

95.25” MAX.

b°

‘zg - -"‘4"; qa, PV
L‘Qu - ERERTET ' .ﬂ ) 44
_—f—_ =
l
¢ 1
> f
Q2 : L
NE £x =
‘5 S2 EOE
Ln .
FO 0' &‘o
' U “o0p5°,
T 8 0 . 0o
i 1.68" MN. __{l o Sl
. PANEL THK. |[. 50 2
W > s
3 0o P
& g 09
o O"'o"" o
0 o D
g :'QU"'Q 5
ZX-X
C . - O
OO0
S0 Y
) .0 ..
SEE NOTE 0‘&0- ° 5
8 SHT. (8) So5
2 (D) L2
Z . \
=0
: M
Q&
_4
. P

VERTI R
DOOR PANEL

Y . ] > b
o NG S v
G-
=
I
.
3 .
<
= Shgc
i 7]
Te] 2
N o |
. o @
S )
[G]
W
I
L
2 =
2 41 5
: W
3 ' — 5" MIN. 3
g x GLASS THK. L
L % || 2
>
° 2o’ TIT Q.
: - o a
3 2a | :
2 0 G
0 N XTERIOR NTERIOR S
© 1 .
T x
<
=
o
e}
. - [
x  1.68" MIN. J|@, O
Z5 PANEL THK. [[ 2 2 5 /@
S
d b p <
2 g 0 9/
55 {3 . o .1-
2= QO :.'f e
0 o o .\ o :
= |
T—m\ N
: ¥ : SEE NOTE
S 9 SHT. 4

VERTICAL CR CTION
SIDELITE PANEL

tem DESCRIPTION Materigl
FIBERCLASSIC PANEL SKIN .110” MIN. THK. FIBERGLASS BY
" |THERMA-TRU with yield strength Fy(min.)=6,000 psi FIBERGLASS Sw
SMOOTHSTAR SASH SKIN .070" MIN. THK. FIBERGLASS BY == N
'A_|THERMA=TRU with yield strength Fy(min.)=6,000 psi FIBERGLASS E 5
2 _|FC. TOP RAIL (1.531" x .94" THERMA—TRU WOOD COMPOSITE) | WOOD COMPOSITE S o
3| FC. LATCH STILE (THERWA—TRU, WOOD COMPOSITE 1.531" x 1.209")] WOOD COMPOSITE 2 LF |
4 | FC. HINGE STILE (THERMA—TRU, PONDEROSA PINE 1.531" x 1.209°) _ WOOD >SN
5| FC. BOTTOM RAIL (1.531" x 1.25° THERMA-TRU WOOD COMPOSITE) | WOOD COMPOSITE 8 < .0
6 | POLYURETHANE FOAM (BASF, 1.9lbs. DENSITY) | FOAM Say
7 | SHORT REACH COMPRESSION WEATHERSTRIP (THERMA=TRU)| _FOAM £FOSO
8 | LONG REACH COMPRESSION WEATHERSTRIP (THERMA—TRU) | _FOAM FQO3S9
9 14" x 4" HINGE .097" THK. (THERMA—TRU) STEEL <=TH
10 |#10 x 3/4" lg. PFH WOOD SCREW (Hinge to Frame) STEEL ==
11_| NoT USED - To =
12 |#10_x 2" LG. PFH_WOOD_SCREW STEEL TO Q
13 |#8 x 2 1/2" LG. PFH WOOD SCREW STEEL =
14_|3/16” _TAPCON ANCHOR (ELCO, 1.75” MIN. LG.) STEEL
15 |NOT _USED - -
16 | 2x_INNER_WOOD BUCK WOOD Lo2
17 | MAX. 1/4" SHIM_MATERIAL WOo0oD Sd3
18 |KWIKSET TITAN 700 SERIES PASSAGE LOCK - ST .
19 [ONE PIECE BUMP FACE THRESHOLD (THERMA-TRU) |ALUM./WOOD| | 3.3 &
20 | 4.563" x 1.25" HEADER (THERMA—TRU, PONDEROSA PINE) | __WOOD Nl R
21 | 4.563" x_1.25" STRIKE JAMB_(THERMA-TRU, PONDEROSA PINE)] _ WOOD 0875 © &
22 |4.563" x_1.25" HINGE JAMB (THERMA—TRU, PONDEROSA PINE) | _WOOD A~ |3 25
23 |KWIKSET TITAN 700 SERIES DEADBOLT - Sodal S W
24 | ASTRAGAL WINDJAMBER Il WRBOT (.052" WALL) | ALUM. 6060T-6] | .. 0%,_ 4@ E?V
25 |GLAZING, 1/2" INSULATED TEMPERED GLASS GLASS 6lg 3y ¥
26 _|NOT_USED - 3| 0oy
27 |#8 x 1~ LG. PANHEAD SHEET METAL SCREW STEEL b K
28 |NOT USED - g
29 |#6-18 x T 374" PHILLPS FLATHEAD SCREW (FOR TTEM #33) | STEEL <=k
30 | FC_WOOD LOCK BLOCK 2.375" x 1.515" (PONDEROSA_PINE) WOO0D x|
31 [3/16” TAPCON ANCHOR (ELCO, 2.5” MIN. LG.) | STEEL x
32 |1/8 THK. CELLULAR GLAZING TAPE (STIK—II TAPE) — £13
33 | PLASTIC LIP LITE FRAME (PVC, THERMA=TRU) PVC 712
34 _|PLASTIC LIP_LITE FRAME (SMC, THERMA=TRU) SMC & |,
35 |4.563" x 1.25" BLANK JAMB (THERMA—TRU, PONDEROSA PINE)| WOOD < 2
36 | SIDELITE SIOE STILE (THERMA-TRU, 1.531" x .656° PONDEROSA PINE] _ WOOD §§ S
37 |#10 x 1 3/4" LG. PFH_WOOD SCREW STEEL <= s
38 | NOT USED - 3 (@)
39 |HIGH WATER DAM_THRESHOLD ALUM.
40 | SILICONE _CAULK (DOW_795) SILICONE SIS
41 |#8-10 x 1 _1/2" PLASCREW (FOR ITEM #34) | STEEL NNE
42 |SDELITE T0P & BOTIOM RALL (THERMA-TRU, 1.531" x .656° PONDEROSA PNE]] _ WOOD NG
43 |#8 x 2" LG. PFH WOOD SCREW STEEL N
44 |3/8" x 378" QUARTER ROUND FINGER JOINTED PINE] _WOOD 3
45 1" L. x .040” DIA, BRAD TRIM_NAIL STEEL A
46 | VES SURFACE BOLT §454 80" L x 25" THK. STEEL -
47 | 1/4=20 SEX BOLT W/1/4-20 FERALE END x 1 3/4" L STEEL ﬁwaumc
CONSULTANTS, INC
813.684.3831
oaTE: 11/08/01
Approved as complying with the | SCALE: N.T.S.
gl:::da Bmdm.C 002 DWG. BY: TJH
NOA# CHK. BY: RW
DRAWING NO.:
S-2097

SHEET 2 oF 7




(18) N SEE NOTE Z
23 7 SHT. 4 oS .
EXTERIOR =F TE o
ASTRAGAL RETAINER BOLTS, 5 9 10 37 g9 «
(2) 17.0" LG. x 0.312" DIA. ® TOP & 82 S 2%
(2) 8.0" LG. x 0.312" DIA. ® BOTTOM @ ~& LT
(4) BOLTS TOTAL (30) EXTERIOR ; TZ0
e SEE NOTE & g,_,_,*”
’ r A o e Qo 5 SHT. 4 o QLLJ/O\
= T . — PR 43 ES23
R =0 V- o .°0 . SCRR O (14) T 22
= . o ... Q.0 = koo L e ' N =, P << = (@/
Vo e L & 4 | [I R P s e =, =
<. = 5. @ : V) i o -="‘.’..»°‘5’347 f l 1 | s r
e S aa Y w805 5. INTERIOR Y
o =8 k alllygi=7, A o= & = T2 &
f INACTIVE ) acTvE \@ A
Z‘X. Y o O -8
% SEE NOTE 2 (7X8) o0 2 K 2
2 . ~— - — M [+0]
Qo I . X N4
°z ZE= = X3 2
INTERIOR SEE NOTE 6 (49) (39 % N e BE
SHT. 4 35 a l:d ’ G (T)ER m OLUL),
25)SEE NOTE 83 PR il
HORIZONTAL CROSS SECTION 22 osHT 4 OF | 327|3 &4
o
%E@Sg?.?s%’fv PRESSURE CHART) SHT. 4 Ele o2y &
(E > HORIZONTAL CRQSS SECTION S|&e.Qo| ©
: @ HINGE JAMB TO SIDELITE Ol <% &
1.15” MIN. ] L
EMB. =|5l@
EXTERIOR ES
— ’——.25" MAX. SHIM @) 0
R . e b
L. o= o 15" MIN. /_/. _ ACTME é%
h T - - - i}
TN, SEE NOTE 5 (34 e o.0” =% % 2
SHT. 4 by e L8 2
P 33 1 R 9 2
e 25 1 PSR 3E A
] —eon
Coe INTERI of o
@/JT . D IR Y- 9w
RS g ro . o o'z
| e | NN
vY b‘ o O - 46 NDs'
| % 5 09 ? , N
' x. Dﬂ!” i? »
SRS P 1 g OPTIONAL SURFACE BOLTS IN ACTIVE PANEL ﬁwaumm
T AN 2 (SEE DESIGN PRESSURE CHART) conel Vi aobine
JEE I =k 0 3 813.684.3831
. e = (@]
o n 29Y 41
SR @ (43 i SEE NOTE 1 bate: 11/08/01
- SHT. 4 scale:  N.T.S.
SEE_ NOTE Approved as complying wi
INTERIOR @ o SHT. 4 n‘;ﬂ:;,,uﬁi?mé' y ':""' the  owe. Bv: TJH
<E ) HORIZONTAL CROSS_SECTION NOWH 2= o v RW
Miami D, DRAWING NO.:
@ SIDELITE T0 BUCK Dingion . _
D S-2097
- SHEET _3 oF _7




EXTERIOR
25" MAX.

SHIM SPACE

1.68” MIN.
PANEL THK.

25" MAX.
SHIM SPACE

SEE NOTE

T

P -&
N

/ ’ B o . 'O'l' .'o . . N
DI SR <
.‘.“ ‘o - ‘-. s
Lo

a4

Iz A ﬁ\b
R it

1.15" MIN.
' EMBED.

.15" MIN.
C-SINK

R () R()
v LATCH JAMB TO BUCK,

NOTES:
1. SPACING FOR ITEM #29 & #41 (LITE FRAME SCREWS)

IS AS FOLLOWS: FROM THE BOTTOM UP ON SIDES; 6.5",
WITH (7) MORE SPACED AT 9.875” 0. C. THERE ARE (2)
SCREW BOTH TOP AND BOTTOM AT 2.125” IN FROM EACH
CORNER.

SPACING FOR ITEM #27 #8 x 1" PANHEAD SCREW
ATTACHING THE ASTRAGAL TO THE INACTIVE DOOR IS AS
FOLLOWS: FROM THE TOP DOWN 1", 3", 5", 18.25" 54"
77", 90.25" 94.25".

THE HEAD JAMB IS ATTACHED TO THE SIDE JAMBS WITH

(3) #8 x 2.5” PFH WOOD SCREW

THE THRESHOLD IS ATTACHED TO THE SIDE JAMBS WITH

(2) #8 x 2.5” PFH WOOD SCREW

THE SIDELITE IS DIRECT SET INTO THE JAMB WITH (12) ITEM
#43 A #8 x 2" PFH. WOOD SCREW. THERE ARE (4) AT
FACH VERTICAL JAMB, FROM THE TOP DOWN AT 13.5",

31" 48.5" 66”. THERE ARE (2) AT THE HEADER AT 4”

34
33

—

FROM THE OUTSIDE CORNERS OF THE FRAME. THERE ARE

H

(2) AT THE SILL, 4” FROM THE OUTSIDE CORNERS.
SPACING FOR ITEM #43, A #8 x 2" SCREW SECURING

THE MULLIONS TOGETHER IS THE SAME AS THE PERIMETER
ANCHORING SCREWS. 6” DOWN FROM THE TOP AND UP
FROM THE BOTTOM WITH (4) MORE SPACED AT 16.9” O.C.
WHEN ATTACHING THE HINGE TO THE JAMB AND THE BUCK
USE ITEM #12 A #10 x 2" SCREW. WHEN ATTACHING THE
HINGE TO THE JAMB AND THE SIDELITE AT THE MULLION
USE ITEM #37 A #10 x 1 3/4” SCREW.

ITEM #39, THE HIGH DAM THRESHOLD IS ONLY USED IN AN
APPLICATION WHERE A HIGHER WATER PRESSURE MUST BE
ACHIEVED.

SPACING FOR ITEM #45, THE BRAD TRIM NAIL SECURING
THE QUARTER ROUND TO THE SIDELITE FRAME IS AS
FOLLOWS: 2.0” FROM ALL ENDS AND A MAX. OF 12.0” O.C.

—

.57 MIN.
GLASS THK.

ION

(SEE DESIGN PRESSURE CHART)

RIZONTAL
\4_/ HINGE JAMB TO BUCK,

1.68" MIN.
PANEL THK.

CROSS

SEE NOTE

SHT.
43

SEE NOTE
5 SHT. 4

43

1.68" MIN.
PANEL THK.

s

5

-CTION
.15" MIN.

C—-SINK

1

EXTERIOR

uN

.15” MIN.

7 SHT. 4

EMBED.

(9)

1.68” MIN.
PANEL THK.

EITETET

=

P
o Qo

(:)—’ 36

41129

SEE NOTE 1
SHT. 4

35

45

SEE NOTE
9 SHT. 4

21

INTERIOR

SEE NOTE 6
SHT. 4

3\ HORIZONTAL CROS

i
ho

1

@

STRIKE JAMB TO SIDELITE

(SEE DESIGN PRESSURE RATE)

Approved as complying with the:
Florida Buiding Code
2

Miami Dade Product ]
Division
By,

P

NOA#

P4

oS
O _®
02X
Loz,
£ >0 M
o)

Q iujm
DR~
xRSO
~ O S (@]

' g (0e)
< <
%r\E .
wy T
I
h A o
IO%
~ I§
O(DU)
oL 1%
E XD nld
O: O OO:"O‘
N2 g oz
[EX 3072 Fer S
n— |18 <
go“‘é z2

- Q
g, |4 &8
= mDD x|l O
g (nE Olol Qu
Ao | TV
2| 23|%
EF o3&
3
=|>=
2P
2=
%
e
a z
O
L
QIO u:l
NN
QOu
ERE
NSNS
N‘-CZD
'% BUILDING
CONSULTANTS, INC
813.684.3831
oaTE: 11,/08/01
SCALE: N.T.S.
OWG. BY:  TJH
CHK. BY: RW
DRAWING NO.:
S-2097
SHEET 4 oF _7_




SEE DETAIL "F" 8 W
SHEET 5 SN
| | E Q o
— 1 Om9$
A I ~
£2oh
. . . & 5 W O
© © —5" 6»‘1 o SEE NOTE S o~
3 SHT. 4 Os o
. 7T T i ey 2333
i I I <=
' bt - T F } DE: NS
SEE NOTE : : 0 o =
3 SHT. 4 : i TO Q
' I SEE DETAIL ©a T -
| T SHT. 5 il { : = . — — 4
10 2 O a O
& @9 &) _ ” 9 + O
. | < 3 S ca I rvp = ST E oS
* _SEE NOTE : 3 -5 : -3 o=l o
_ B SHT 4 Il  _ || see perai X . - - Q=g &
/ : SEE NOTE _—" L"E" SHT. 5 WO 1,
® soma T || AT B - S5, 8
NP SEE DETAL | | ) © Gl % 22
' 'G” SHT. 5 { ~ _ _ ; 3 15 o
-_— - — — . ¢ .—B ( Ov % ZQ
& r/ 1o el5 2
SEE DETAIL _ Y| EE NOTE oy SEE DETAL olx =38 S
- i : | —_ 4 SHT. 4 . SEE DETAIL . - - TYP. SIE ==|g <
" "D* "G” SHT. 5 (13 A B
N - 8 il ”C” fr— ”C” TYP. "D”—— == 5 E
NE I & B ; =
- | . - - . "
N 11 P 1 | " | n o @y 2=
— ” ” (/)U)
3"~ |- —~| -3 f :| -t e e J SEE NOTE A
© 4 SHT. 4 a2
ol
s @
S| (g
SIS
R W/SI INGLE _DOOR §§§
NS
SURFACE BOLT S
STRIKE PLATE NOTE: N
A @ gg;L”L B@L'?Tuozgﬁ 12 USE #8 x 2 1/2" PFH WOOD SCREW TO ATTACH THE
SEE NOTE —— X » STRIKE AND DEADBOLT PLATES TO THE JAMB OR BUILDING
7 SHT. 4 ~ ENOUGE’OE’RTH’}?OZW ASTRAGAL EXCEPT IN THE MULLED APPLICATION WITH  |llconstirants, i
SEE NOTE 0 THE SIDELITE USE #8 x 2" PFH WOOD SCREW. 813.684.3831
THIS SHT. . == =
u DATE: 11/08/01
SURFACE BOLT Aoproved i ScAle:  N.T.S.
. STRIKE PLATE Prorida Buktion G "‘;_ owe. . TUH
Date .
’ 0y N NOA# » CHK. BY: RW
DETAIL F SEE NOTE RETAIN%%M;(.)L_;LHOLES NoOZ0l09.L% e
ATTACH ASTRAGAL THROW BOLT THIS SHT. A S URF A Division S—2097
STRIKE PLATE TO FRAME & OPTIQNAL SUREA By
AS SHOWN. DETAIL G SHEET _5 ofF _7




SEE DETAIL 'F"
{4'\/ SHEET 5

| lhéﬁ | »
Il . ° . o\ sje . . Jl 6 — [-— % Lﬁ
6” 3»_— ——] «\3" 3”-——- » > N
" . I . 6 SEE NOTE RE o
SEE NOTE "‘ 6" - N 6" " L =P " Q ©
al T | ] i I TI||TT I | &Qgg
- - = E g - I L3 - Z M
E z 48] z O
Q| s = 2 ] 35,7
© 0 0 - : o 5> QW ~
TYP. - © cOso0o
. =
- - S g ‘ - I | - = g ) %
SEE DETAIL " © " § -
H' "F" SHT. 5 _ 59 © @ _ (S e
: =i N G S TYP. = N wy T
- — T . - | + T —
1 SEE NOTE
SEE DETAIL - -\ EE_NOTE SEE DETAIL
"G" SHT. 5 N - "E", SHT. 5
SEE DETAIL | ] . TYP. o2
I - — ”E”, SHT' 5 \<. - EE . — » - — '_:E $§ U')
: TYP. \EE 31/ @ = : @ § x'g 89
poed — / S S
SEE DETAIL in v - NP 200 35
"H” SHT. 5 & // o J— B ng 51 90
- @ RN 2 o2
J - SEE DETAIL w1 - - Lollal 28N
: SEE NOTE ' "L \ ) SEE NOTE 5lo 3|8 S
- 4 SHT. 4 ~om Y A/ 4 SHT. 4 .. | =[ny >3
= e ———— e v o :\#: ’TYP L ( K Q: § %'%% E <
» u n ” ats a
6| |- I 3"~ | o ——!I——s =0
3" - 3 2
"H” SHT. 5 "\ .
Ly
S S
2lG
DOUBLE DOOR I OR W TES &,Qa: o
S B
c® 5
c:‘-zu E
3z ¢
.50” GLASS > 50" GLASS
BITE 33 BITE S8
& i
oo (V@ ® o Teweene0 ExERS /@ S 2k
GLASS . £ GLASS
gtnd 20 P T 7 14 N SPACE ool Y. o0 ‘o.' N | t’. SPACE ﬁ
©(=Z o ... . 0Wl ' ©|Z O ... y.‘ﬂ. f Wauu_omc
—i ‘ \0 9 ; | .25" STEEL \ —x [ \0 o —{ .25" STEEL . . CONSULTANTS, INC
= INTERCEPT £ \_1/8” TEMPERED = INTERCEPT > T 118 TEMPERED 813.684.%651
INTERIOR € SPACCR S+ Glass INTERIOR SPACER  gF  GUASS
s A (39 (49 A DATE: 11,/08/01
@ 0 23 scA&:  N.T.S
@ (O] 29 O Appmvedlscomplymswkhmg —
SEE NOTE 1 SEE"NOTE 1 Fiorida Buiding Code DWG. BY: WLN
SHT. 4 SHT. 4 23&%%%1 CHK. BY: RW
Miami Dade l:mdu rol DRAWING NO.:
5" | 5" INSULATED G Djvision S—2097
SMC LITE FRAME GLAZING DETAIL PVC LITE FRAME GLAZI ETAl BY - >
SHEET _6 oF _7_




)——1.25"

4.563"

————I—1 063"

7}/ //f/7

—11.195"

@@ FINGER JOINTED PONDEROSA PINE
4.563"
-— 2.36”
- &
T t
T
[GH_DAM T
ALUMINU THRESHOLD
050" WALL TYP.
SEE NOTE 8 SHT. 4
. ©
Q o
0 F—2203"—
T E -
L 2 _f
T T
l-———-4.625” o
$
N

O O
9 O O
—={l=— 097"
@ 4 x 4 ST OR_HING

TIONA Fl

MP_FACE ALUMINUM/WQOQOD THRESHOLD

.75” -I‘—~

.050" WALL TYP.
NOTE: USE OF THIS COMPONENT DOES NOT MEET
THE WATER REQUIREMENTS FOR

QUTSWING

"HIGH VELOCITY HURRICANE ZONES”.

~— 2.152" 2.589" 76 ASTRAGAL RETAINER BOLTS,
|—1.68" — —~ 1.676" | L (2) 17.0" LG. X 0.3125” DIA (ZD L.>.|
1_' © @ TOP & (2) 8.0" LG. X EZ D
N N 0.3125” DIA. @ BOTTOM <5 3
S{ .\\\\...\‘\\. . I-_ (4) BOLTS TOTAL S olo
23” __I 3 5% Q. Q I N
——. ~— .526" [ ’ 3 | g Z0m
PLASTIC_LIP_LITE FRAME @ L. - s SIRNIRRE
EXTRUDED PVC 8 2 N Sak
RESSI T [ N q i S8
BY THERMA—TRU ~ 228
FOAM CELL CORE l § S~
W/VINYL JACKET : T .
» 20 ] =O T.O : LLI © Q
1531~ 2% SN 1.767" =~
17 592" N Il WR8OT
: | | ALUMINUM " WALL TYP. 1?2
| S
- k= wn
@ EC. FC. TOP RAIL S g ?,gmg E
WOOD COMPOSITE WOOD COMPOSITE T - | 2378 —‘I N
R " T Lonldl o
: 179"~ }— : A E-
? |~——1—1 077" 1.077" 0 seSja 3
' 0 TV L
LONG REACH - b
/) Lo, SO -
s Q@ N —
FOAM CELL CORE T N Sl <3lE
T_‘__ . U W/VINYL JACKET g o R P
_| . 531 , 3
1.531 © - =
.8 . < FCW 0CK 5@
TE TOP Al [DELI NK_SIDE_STIL FINGER JOINTED PONDEROSA PINE
w
FINGER JOINTED PONDEROSA PINE [ INGER JOINTED PONDEROSA PINE 2375” . =
. = S ” 7] (%]
L 2644 I 3 i Al
I—+.255——| S | |~ ~ 1 £ o
: - : o
T 4t % f o I o §§ s
__f__ X CJ
S : === 5’) - o 2 S| |3
. /T «
T i 15317 1 ON I S8,
rsz-l s, ' & 00D _LOCK SNE
~N
© FC. LATCH SIDE STILE COMPOQSITE  FINGER JOINTED PONDEROSA PINE DRILL TRU FOR S
@ F NGE_SIDE STl .357" DIA. ASTRAGAL ‘
RETAINER BOLTS ~Q
DRILL TRU FOR A #8
8” PFH WOOD SCREW 2PLCS wﬁj/LIT/B%LDINg
” NSULTANTS, N
735 WINDJAMBER Il WRBOT STRIKE PLATE |l 813.684.3831
@ gf @ f——2875" — - pate: 11,/08/01
/ 4 — )
M Approved 2s complying with the  |orrr: N.T.S
\ o © 10O j{ porids Buiding C eéw' T
@ L @ NOA# CHK. BY: RW
Miami Dade Prod -
RFA B T TRIK 1 5» STE, Di m ade uct DRAWING NO.: ,
RF, T (IVES. .25” ST : ' S-209

sHeer 7 ofF 7




